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/ Geneml Instructwns to Candzdates

There is a 'Cool off time' of 15 minutes in addition to the writing time of 2V hrs.

during the 'cool off time'.

Use the 'cool off time' to get familiar with questions a.nd to plan your answers.
Read questions carefu]ly before answering.

All questions are compulsory and only internal éhoice is allowed.

When you select a question, all the sub-questions must be answered from the
same question itself.

Calculations, figures and graphs should be shown in the answer sheet itself,

Malayalam version of the questions is alse provided.

 Give equations wherever necessary.
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Match the column A W1th column B

and C. _
A B C A B C
1..' " Economic | Resource | Structural 1 | oomiesle |alea nerax)n_lmmom)
growth conser- changes ugday DOBBHEMO magsmdb o
o vation _ : . _
Sustainable] Reduce Long term 2, oyl | eodlEidacd | ddeeieoeio
develop- poverty and nﬂmmo BMo,H®If
nt unemploy- g
me ploy cfbmodsimo
ment : 4.
3. | Economic |Quantita- |Future 3. | momenfe | Quantita- .Goo.ﬂ
develop- |tive genera- allamimo tive (OIST o)
ment tions ' o |
(1x3=3)  (1x3=3)
4. The important issues related to poudle aflemnayeos] emwegs
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sustainable development are
resource  depletion and
environment pollution, Give two
reasons each for this preblem
which you observe in your
1oca11ty Suggest remed1al
measures:

answer. (Q. 5 and Q.6)

5.
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Life expectancy, infant mortality

‘rate, standard of living, basic

literacy.

Physical quality of life, percapita
income, human development
index, quality of life index.

Modern economists say that
percapita income cannot be
considered as an indicator of
economic development or welfare..
Do you agree 7

Some aspects related to economic

"and social infrastructure are

given below. Categorise them so
as.to make a meaningful table.

~ Canals, houses, schools, railways,
shops, hospitals, banks, courts,

power plants, airport.

@)
" Pick the odd one out and justify your

(2)

(2)

2)

(2)

&HO0YEBR (1@l allacuamgles
muBlanemajo, aldlmudial aeflole-
msmaRedem’. medw] emweq(s
MIREOS (UOLIAT] HOEMIAT BEB)
(g emglo, - aldlanoe  addgemale
Oﬁ)‘?é.msﬁ '

@

@OBYS mceaoegmuﬂr&esgfmmﬂm’ﬂ oS eygeTtid extsosToxsy
exaenTmsyeT cvouysdoeys. (Q. 5 and Q.6),

5.

alowma

udledlo epeyq), dlujacemalessd,
gl afleicuome, @RSUOOM AUOLHBED.

PQL, meﬂ&aﬂfbnm aumyaomo, HDI,
QLI '

maflln  avomiewle  vaymemamod
el @iwldad  cu@i@smoe
momigmles  aflemmamlagews,
aapErfiexhews myaflawe agmosm.
afiemdd cwosflaarmenio?
mooMiEElenno, Muoagacfle:ydon alla
@SIUOAN  AVVLH0 6B
D@:5ETRdlLeM). @AIH® eI mﬂcdl_g
aldlaooell gy ime.

Canals, houses, schools, ra:lways, |

shops, hospitals, banks, courts,
power plants, airport.

(2)

(2)

@
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Fill in the blanks and make comments

on it. (3)
‘9. anary sector, secondary
_ 1T 7)o _
10. Agriculturé, forestry .....cceceiiuee
11.  Electricity, gas .ooermeerree
i12. Prepare a debate material on the
- topic “Nuclear energy is the most
suitable source of energy in India”.
~ Give five points against and five
~ points in favour of the issue. (8)

~ Find the odd man out and justify your
answer. (Q. 13to Q.16) - (4)

IFCI, UTIL, SBI, TCS

TATA, Reliance, BHEL, ITC _
Bombay plan, Viswesvaraya
plan, Rolling plan, Gandhian
‘plan. '
Airtel, BSNL, BPL, Rehance

“Liberalisation is nothing but
laissez faire”. Do you agree ?
Why ?

13.
14,
15,

16.
17,
(6)

Take the case of two families,
family A with 4 members and
family B with 12 members. The
monthly income of both the
families is the same. List out
problems faced by family B, as
compared to A. Is there any
similarity between family B and
our nation ?

(Hint : Over populatlon)

18,

(8)

19. “Fixing a higher poverty line is
better than fixing a lower poverty

line”. Comment. (6)
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IOV OISO B} n_l&m']nn:ﬂgd mme’lm_lom)o
Q0@ D, (3)

9.  Primary sector, secondary

10.
11.
12

Agriculture, forestry .............
Electricity, gas......... evereeren
“@PEMELBHRO0M FTIE affio
cwomle) pudme goallse”. @0

aflatweenondle 0] Moasas
BYOOIHN. MR oy iBR afleo

- ldaflogellago, @omydyellalio aginme.  (g8)

- aeqeidearmalad ofior uegg@uﬂm'ﬁ 6 ISOmET
o@EOsTmSETS auowadene(Q.13 to Q.16) (4)
IF¥CI, UTI, SBI, TCS

TATA, Reliance, BHEL, ITC

Bombay plan, Viswesvaraya
-plan, Relling plan, Gandhian
plan.

A.lrtel BSNL, BPL Reliance

13.
14.
15,

17. emmaid@ensene agmmy mouvg,rmcm
laissez faire memmosm.
eOEleanlMmad 7 o)ty eH:06nE 7

6) ..

QOB  dhSILENIBBEINS HEDaDBEMo
agySiea . @)Spoenio A ol 4
@eomemalo, @isiomic B i@ 12
@RoMEmEle OE. WOUOS MOM
CURIMOIMo aeN@IET, Bysiosnio B wyes
mnpaNmued asiesniec A oyaow
WMOODAY0 azﬁq" ) eIy, Bysjoenio B
@ Mames mosa{jb_lgo oozl
ag)emEslage MDA HEEN3d? :
(Hint M0 ]o) (8)
19. “swdmm asodiicens) olvmalseim
- ®moem, @¥m aldlaseal Mlvaial
 BO)MEflemH05@ mrdle:0nio” alluodle
fﬁ‘lnas)g‘ﬂ: '

(6)
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When machine made clothes
become popular, the local

- - handloom laboures lost their jobs.
- Give a suitable term for the

21,

situation and define it,
Name three items each which

_pollute air and water.

Name a company which is

producing bulbs. Suppose that
they want to test the life of bulbs

it produces, suggest the most

suitable method for collecting

.data. Substantiate.

Give two examples each for
quantitative and qualitative
data.

Marks foi‘ Economics of 25
studentsin a class is given below :

78, 90, 64, 76, 71, 32, 40,

25, 37, 21, 56, 52, 43, 27,

25,

61, 49, 72, 81, 85,

82, 35,
36, 62, 71, 45. -

Construct the frequency table
using inclusive and exclusive
class intervals. -

Construct a suitable bar diagram
for the following data.

Years Boys Girls

2001 250 220

2002 215 202

2003 190 | 240

2004 205 260

2005 198 208

K-50

(2)

3

3)

(2)

(5)

(4)

21

22,

25.

@ o paodian CuapeTsed -
Dale@iuilanymMm@ qudQruIwseem-
@we IR, O6eES OmIFalos @
azoel] Magen|g, OEIM epmewoIRimo®

RSsY agysiel aflvadle. bl

eoandlen nellrflemeememinge, mel
oefloflaseemaraimo SomemmodynT ayamy

QUMPIBNRD  ag) 1@,
suddeni’  gpavardlaflenim 8wy |
SOUMDIOS ColORY e, @orUd

omasodlaflenym suudenloq ey
AegemmEla’  oey  edldlale;as
aflaicsneiesm dAaloosideno g.almo,
MoWyes BlBeyds. '
Quantitative data eeyp qualita-
tive data eejo osnd o
8a%a0nemeBRali®mo ageime:.

any  gomlea 25 eygleses
EoeEMOdlBMANG 20d6T MOEPExE:05)

afidleoagmy,

78, 90, 64, 76, 71, 32, 40,
25, 37, 21, 56, 52, 43, 27,
61, 49, 72, 81, 85, 82, 35,
36, 62, 71, 45 '
Inclusive class interval go
exclusive class interval

9o L0emfloamm algld: BYROTHEN.

@6Y HosEWldlen;m allaiesnd
Dalewousl of domMEewoRImo® 6nIod
WD CLIBEEB.

Years Boys Girls
. 2001 250 220
2002 215 202
2003 190 - | 240
2004 - 205 | 260
2005 198 208
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26,
217.

28.

"f;

e i m————

30.

Few fal_se statements are given below.
Make them into true statements.

A bar diagram is used to
represent frequency distribution.

A line graph is used to represent-

frequency distribution.

The marks of 50 students are
given below in the form of

frequency distribution,
A B
30-40 | 5

40 - 50 10
50-60 20
60-70 12

70 - 80 3

~ Calculate the Arithmetic mean.

Examine the data givén below :

30, 40, 50, 25, 300
'Calculate the range. Examine the

range if 300 is not present in the

. data,

Draw the scatter diagrams for
each of the relationships between
X and Y given below.

i) Positive rélationship

ii) Inverse relationship

(2)

4)

@

3)
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e  allel (arponime®d  ®IeY
O20sIoRildeaymm). @paleD wdlwoss ageims. (2)

26. e euod wwiwe frequency distri-
bution em afll cflwame e.cigymmy,

27 ey Line graph, frequency distri- -

bution em afloflwome e.aigyom;,

28. mosvesogedesym Frequency
~ distribution c® 50 syfeses
20806 ®OoOP OISO DM,

A - B
30 - 40 | 5
40 - 50 10
50-60 [ - 20
60 - 70 12
70-80 3
AM. ooz alidlane. @

29. moew oo edldleniom  awog
- aIBlacoouslone. ' -

30, 40, 50, 25, 300

Range sengafidlamae. 300 agom
mocely @ppoigmecsi®d Range
‘ag)@@rdfldlenie oQOM HEMEEdeNE.  (2)

30. X, Y ogmlaoes osev

a5y afldlaamnm erumuo @serileeymm
scatter diagram cueeee:. '

i) smddialayes sirwo.
i} aflaide drdlejes sumbe. 3)
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